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REVSIED PARCEL OWNER NAME PARCELS 32, 48, 52 & 53.
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PI Sta 310+63.74

D

L = 1,048.34’

T = 524.99’

R = 7,645.00’

PIs Sta 316+37.09

F

Ls = 150.00’

LT = 100.00’

ST = 50.00’

SE = .03

RO = 150’

PI Sta 28+56.34

D

L = 533.96’

T = 267.74’

R = 2,900.00’

-Y3-

PIs Sta 339+61.39

F

Ls = 200.00’

LT = 133.33’

ST = 66.67’

PI Sta 347+21.81

D

L = 1,382.37’

T = 693.75’

R = 6,560.00’

SE = .04

RO = 200’

PIs Sta 11+34.47

F

Ls = 200.00’

LT = 134.47’

ST = 67.70’

PI Sta 23+52.86

D

L = 678.63’

T = 1,152.86’

R = 250.00’

PIs Sta 19+46.33

F

Ls = 200.00’

LT = 134.47’

ST = 67.70’

-Y3LPA-

-Y3LPD-

PIs Sta 11+34.47

F

Ls = 200.00’

LT = 134.47’

ST = 67.70’

PI Sta 16+63.79

D

L = 538.20’

T = 463.79’

R = 250.00’

PIs Sta 18+05.90

F

Ls = 200.00’

LT = 134.47’

ST = 67.70’

-Y3RPA-

PIs Sta 12+00.93

F

Ls = 210.00’

LT = 140.02’

ST = 70.02’

PI Sta 15+61.96

D

L = 577.22’

T = 291.06’

R = 1,820.00’

PIs Sta 19+18.15

F

Ls = 210.00’

LT = 140.02’

ST = 70.02’

PIs Sta 25+72.93

F

Ls = 200.00’

LT = 133.91’

ST = 67.19’

PI Sta 27+42.95

D

L = 202.07’

T = 103.94’

R = 350.00’

-Y3RPD-

PIs Sta 11+60.07

F

Ls = 240.00’

LT = 160.07’

ST = 80.06’

PI Sta 15+65.79

D

L = 639.45’

T = 325.79’

R = 1,355.00’

PIs Sta 19+59.51

F

Ls = 240.00’

LT = 160.07’

ST = 80.06’

PIs Sta 22+59.64

F

Ls = 210.00’

LT = 140.19’

ST = 70.17’

PI Sta 24+27.26

D

L = 194.17’

T = 97.81’

R = 650.00’

-L-

-Y3- POT Sta.  20+97.00=

-Y3RPA- POT Sta.  30+99.02

-Y3- POT Sta.  21+15.00=

-Y3LPA- POT Sta.  22+44.85

-Y3- POT Sta.  32+20.00=

-Y3LPD- POT Sta.  20+92.14

-Y3- POT Sta.  32+38.00=

-Y3RPD- POT Sta.  27+56.83

-L- POT Sta.  320+39.56=

-Y3- POC Sta.  25+93.72
D

-Y3- PC Sta.  25+88.60

-Y3- PT Sta.  31+22.56

-Y3RPA- PT Sta.  28+41.08

-Y3RPA- SC Sta.  26+39.02

-Y3RPA- TS Sta.  24+39.02

-Y3A- POT Sta.  15+81.61

-Y3RPA- ST Sta.  20+58.13

-Y3RPA- CS Sta.  18+48.13

-Y3RPA- SC Sta.  12+70.90

-Y3RPA- TS Sta.  10+60.90

-Y3RPA- POT Sta.  10+00.00

-L- POT Sta.  338+28.00=

-Y3LPA- ST Sta.  10+00.00

-L- POT Sta.  321+06.61=

-Y3LPA- SC Sta.  12+00.00

-Y3LPA- CS Sta.  18+78.63-Y3LPA- ST Sta.  20+78.63

-Y3LPD- ST Sta.  10+00.00

-L- POT Sta.  323+05.05=

-Y3LPD- SC Sta.  12+00.00

-Y3LPD- CS Sta.  17+38.20

-Y3LPD- ST Sta.  19+38.20

-Y3RPD- PT Sta.  25+23.61

-Y3RPD- SC Sta.  23+29.45

-Y3RPD- SRS Sta.  21+19.45

-Y3RPD- CS Sta.  18+79.45

-Y3RPD- SC Sta.  12+40.00

-Y3RPD- ST Sta.  10+00.00

-L- POT Sta.  338+28.00=

SE = .07

RO = 210’

SE = .08

RO = 200’

SE = .08

RO = 200’

SE = .08

RO = 200’

SE = .08

RO = 240’

SE = .07

RO = 210’

-Y3B-

-DRV2-

SE = SEE PLANS

SE = SEE PLANS
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PI Sta 14+76.79

D

L = 316.74’

T = 202.60’

R = 200.00’

15
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PI Sta 14+98.52

D

L = 71.16’

T = 37.16’
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